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QUESTION 1

Which statement about virtual SteelHead is NOT true?

A. It supports Quality of Service and Path Selection.

B. It can fail to wire using VMware direct bypass feature from ESX 5.0 when utilising a Riverbed hardware bypass card.
C. It only supports one in-path interface and must be deployed virtually in-path.

D. It can perform auto discovery in an in-path deployment.

E. It can perform auto discovery in a virtual in-path deployment.

Correct Answer: C

Out-of-Path Deployment is possible.

For a virtual out-of-path (OOP) deployment, connect the primary interface to the physical in-path NIC to
be used, and configure the router to forward traffic to this NIC. You must also enable OOP on Virtual
Steelhead.

References: Virtual Steelhead Installation Guide, Version 1.0 (RiOS v7.0.3), July 2012, page 13

https://support.riverbed.com/bin/support/download?did=624

QUESTION 2

Rules that dictate the types of TCP traffic that a Steelhead Mobile client should optimize are configured in the:
A. Acceleration policy

B. Authorization policy

C. Peering rules

D. Fixed target policy

Correct Answer: A

QUESTION 3

What is required for CIFS prepopulation to succeed?

A. The SteelHead must be joined to the domain.

B. The connection from the client-side CteelHead Aux interface must be optimized by the client-side SteelHead.

C. The connection from the client-side StealHead primary interface must be optimized by the client-side SteelHead.

101-01 Practice Test | 101-01 Study Guide | 101-01 Braindumps 2/3


https://www.passapply.com/101-01.html
https://www.passapply.com/101-01.html
https://www.passapply.com/101-01.html

VCE & PDF https://lwww.passapply.com/101-01.html|
2024 Latest passapply 101-01 PDF and VCE dumps Download
PassApply.com

D. It must have enough PFS disk space to store the entire server share.

Correct Answer: C

You configure prepopulation only on the client-side SteelHead. You must configure and connect the client-side
SteelHead primary interface properly for prepopulation to work. The primary interface must be able to establish

connection with the server.

References: https://support.riverbed.com/bin/support/static/Irjerqlevg0fnm7pekuq3j2mdl/html/vte4p5uj
2dkg9k1ukjv82835ci/sh_9.2_dg_protocols_html/index.html#page/sh_9.2_dg_protocols/pre pop.htmi

QUESTION 4

Steelhead appliances models vary by supported bandwidth. This bandwidth refers to:
A. All inbound and outbound traffic

B. All outbound traffic

C. All optimized inbound and optimized outbound traffic

D. All optimized outbound traffic

E. VolIP traffic only

Correct Answer: D

QUESTION 5

By default, when a SteelHead fails, either by power loss or optimization service failure, the appliance:
A. Blocks all traffic.

B. Routes all traffic.

C. Passes through all traffic.

Correct Answer: C
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